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[1]  – :

predicates
dif ( symbol , symbol )
clauses
dif ( “d / dx sh(x)”, “ch (x)”).
dif (“d / dx ch(x)”, “sh(x)”).
dif (“d/ dx cos(x)”, “ – sin (x)”).

 Goal:dif (“d/ dx cos(x)” , Y). 
: Y = - sin(x). . ,

goal
dif ( “ d / dx cos(x)”, Y), write (“\n d / dx cos(x)=”, Y).

: d / dx cos(x) = - sin(x). -
 dif  int. -

:

int (“sh(x)” , “ch(x) + c “).
int (“ch(x)” , “sh(x) + c” ).
int (“cos(x)” , “sin(x) + c” ).

 cos(x) :

goal
int (“cos(x)” , Y ) , write (“\n integral of cos(x) = “ , Y ).

: integral of cos(x) = sin(x) + c .
 [1]

:

LABEL 1000 ;
VAR NAME: STRING[20] ;
WRITELN(‘ The expression is : sin(x) ? , yes or no ‘);
READLN(NAME);
IF NAME = ‘yes’ then BEGIN writeln(‘ The integral is: -cos(x) + c ‘);
WRITELN(‘For continue to push the Enter ‘) ; READLN ; GOTO 1000 END ;
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 IF 
}

READLN ;
WRITELN(‘Syntax error . Process Terminated.’);
READLN ;
1000: END.
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